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INSTRUCTIONS TO CANDIDATES 

Write your name, Centre number and candidate number in the spaces at the top of this page. 

Answer all questions. 

Write your answers in the spaces provided on the question paper. 

Show all your working. Marks may be given for working which shows that you know how to solve the problem, even if you get the answer wrong. 

INFORMATION FOR CANDIDATES 

The number of marks is given in brackets [ ] at the end of each question or part question. 

You are expected to use an electronic calculator for this paper. 
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button on your calculator. 
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These notices were seen on two market stalls. 

At which stall was the price of one orange cheaper? 

By how much? 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer __________________________________________ [3] 



2 A Maths teacher buys 92 text books, costing £3.85 each. 

Without using a calculator, work out the exact total cost. 

(You must write down enough working to show that you did not use a calculator.) 

Answer ______________________________________________ 

___________________________________________________________________________ 

___________________________________________________________________________ 

___________________________________________________________________________ 

___________________________________________________________________________ 

___________________________________________________________________________ 

___________________________________________________________________________ 

_______________________________________________________________________ [3] 



3 Work out: 

(a) 0.6 x 2.5, 

...................................................................................................................................................... 

Answer (a) ______________________________________ [1] 

(b) 78 x 14 

   112 - 86 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) ______________________________________ [2] 

(c) 7² - 5². 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) ______________________________________ [2] 



4 
(a) In a shop, Alan spends £1.33 on milk, 

£3.14 on coffee, 

and £0.74 on sugar. 

(i) Calculate the total amount that Alan spends. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (i) £ ________________________________ [1] 

(ii) Alan pays with a £10 note. 

How much change should he be given? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (ii) £ _______________________________ [1] 

(b) Barbara is organising a coach trip for 260 people. 

Each coach will hold 48 people. 

How many coaches will be needed? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) ______________________________________ [2] 



5 The sketch drawing shows the plan of a field. 
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NOT TO SCALE

Using a scale of 1 centimetre to 10 metres, make an accurate scale drawing of the field in the space below. 

The line AB has been marked for you. 
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                                                                                                                                                                     [4] 

Write down the length of the side CD of the field, to the nearest metre. 

Answer CD = __________________________________ m [1] 



6 The cost, C pence, of advertising in the local newspaper is worked out using the formula 

C = 20n + 30, 

where n is the number of words in the advertisement. 

(a) Annalise puts in an advertisement of 15 words. 

Work out the cost. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) ______________________________________ [2] 

(b) The cost of Debbie's advertisement is 250 pence. 

(i) Use the formula to write down an equation in n. 

Answer (b) ______________________________________ [1] 

(ii) Solve the equation to find the number of words in Debbie's advertisement. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) ______________________________________ [2] 



7 (a) When a pendant is carved from a block of wood, 4/9 of the wood is cut away. 

The original block of wood weighs 225 grams. 

What weight of wood is cut away? 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) ____________________________________ g [2] 

(b) 

                           SALE                                      

                  25% off all marked prices                 

The marked price of a pullover is £15.99. 

What is its sale price, to the nearest penny? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) £ ____________________________________ [3] 



8 The timetable shows the weekday train times from Derby to London. 

Derby     0756      0902       1002      1102      1202                   2002         2108       

                                                             then every                           

                                                             hour until

London    0930      1046       1148      1242      1348                   2150         2238       

(a) (i) How many minutes does it take the 0756 train to travel from Derby to London? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (i) _______________________ [2] 

(ii) All the trains between the 0902 and the 2002 take approximately the same time to complete the journey. 

Estimate the time at which the 1602 train will arrive in London. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (ii) ______________________ [2] 

(iii) Sally wants to leave Derby after half past ten, and to be in London before two o'clock in the afternoon. 

List all the possible trains that she could catch from Derby. 

Answer (a) (iii) _____________________ [2] 

(b) Using the timetable, Sally works out the average speed of trains from Derby to London as 2 kilometres per hour. 

Is this reasonable? 

Explain your answer. 

Answer (b) _______________________________ 

___________________________________________________________________________ 

_______________________________________________________________________ [2] 



9 The table below shows the repayments required on loans of different amounts, for 1 year. 

Amount of Loan (£)          500           750           1500          2250           3000      

Monthly Repayment (£)       60             85            160           235           310       

(a) Plot these pairs of values on the grid below. Join them with a straight line. [4] 
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(b) I can afford to repay £180 a month. Use the graph to find out the largest amount I could borrow. 

Answer (b) £ ____________________________________ [2] 

(c) Use your graph to find the monthly repayment on a loan of £1000. 

Answer (c) £ ____________________________________ [1] 

(d) Phil borrows £1500. 

Altogether his 12 monthly repayments amount to more than £1500. How much more? 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (d) £ ____________________________________ [3] 
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The pentagon ABCDE is the frame for Ibrahim's mountain bike. ABC is an isosceles triangle in which AB = BC and angle BCA = 65°. In the quadrilateral ACDE, angle ACD = 70°, angle CAE = 90° and AC is parallel to ED. 

(a) (i) Calculate the size of angle ABC. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (i) __________________________________ [2] 

(ii) What facts about the angles of a triangle did you use in your calculation? 

Answer (a) (ii) _____________________________________ 

_______________________________________________________________________ [1] 

(b) Calculate the size of angle CDE. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) ______________________________________ [2] 

(c) The radius of each wheel is 34 cm. 

Calculate the circumference of a wheel. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) ___________________________________ cm [2] 



11 (a) Look at this sequence of numbers: 

          3,     8,    18,    38,   .... 

The rule that has been used to get each number from the number before it is 

             Add 1 and then multiply by 2 
(i) Write down the next number in this sequence. 

Answer (a) (i) __________________________________ [1] 

(ii) Using the same rule but a different starting number, the second number is 16. 

What is the starting number? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (ii) _________________________________ [2] 

(b) Look at this sequence of numbers: 

       5,    9,    13,   17,   21,   .... 

(i) Write down, in words, the rule for getting each number from the one before it. 

Answer (b) (i) ______________________________________ 

_______________________________________________________________________ [2] 

(ii) Write down a formula, in terms of n, for the nth number in the sequence. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) (ii) _________________________________ [2] 



12 The table below shows the number of records sold by a small record shop in Megtown. 
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(a) In the table above enter the number of records sold in March and April. [2] 

(b) Complete the table by drawing the symbols to show the number of records sold in May and June.[3] 

(c) Complete the bar chart below to illustrate the information in the above table. [4] 
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(d) Write down your estimate of the probability that the shop will sell 200 records in July. 

Justify your answer. 

Answer (d) __________________________________________ 

_______________________________________________________________________ [2] 
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The diagram above shows all the possible outcomes when two fair dice are thrown. 

(a) Explain clearly what outcome is represented by the cross P. 

Answer (a) __________________________________________ 

_______________________________________________________________________ [1] 

(b) On the diagram ring each of the crosses representing those outcomes with a total score on the two dice of 8. [1] 

(c) Find the probability, as a fraction in its lowest terms, that 

(i) the two dice will show a total score of 8, 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) (i) __________________________________ [1] 

(ii) the two dice will show the same score as each other, 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) (ii) _________________________________ [2] 

(iii) the two dice will not show the same score as each other. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) (iii) ________________________________ [2] 
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The diagram, which is drawn accurately, is part of a net of a pyramid with a rectangular base. 

(a) Complete the net accurately on the diagram.[2] 

(b) Sketch the pyramid in the space below. 

                                                                                                                                            [2] 

(c) Using the dimensions shown on the diagram, calculate the total area of the five faces of the pyramid. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (c) __________________________________ cm² [3] 



15 This question is about the way water is used in two Mozambique villages. 

(a) In village A, 324 litres of water are used each day. The pie chart below shows how the water is used. 
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(i) How much water is used each day for cooking? 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (i) __________________________________ [2] 

(ii) What fraction of the water used is given to animals? 

Give the fraction in its lowest terms. 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (a) (ii) _________________________________ [2] 

(b) In village B, the water is used as follows: 

        Cooking                               20% 

        Drinking and washing themselves       50% 

        Washing clothes                       20% 

        Washing pots                          10% 

Using the circle below, represent this information in a pie chart. 
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                                                                                                                                                               [3] 
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The diagram shows part of a computer spreadsheet. The number 10, in column B row 4, is labelled B4. The rule for finding the numbers in column B is 

B1 = 1 
B2 = B1 + A2 
B3 = B2 + A3 
B4 = B3 + A4, and so on. 

(a) Find the numbers B6 and B7. 

Answer (a) B6 = _________________________________ [1] 

Answer (a) B7 = ____________________________________________ [2] 

(b) The numbers C2, C3, C4, ... can be found from the numbers in column B. Write down the rule for finding these numbers using column B. 

...................................................................................................................................................... 

...................................................................................................................................................... 

...................................................................................................................................................... 

Answer (b) ______________________________________ [2] 

(c) The pattern in column C is continued. 

(i) What number will be C20? 

...................................................................................................................................................... 

Answer (c) (i) __________________________________ [1] 

(ii) Describe in words the pattern of numbers in column C. 

Answer (c) (ii) _____________________________________ 

_______________________________________________________________________ [1] 



